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= 34,880 39,775 AN4,895
Il 2,700 2,700 0
= 32,014 32,014 0
= 2,048,944 2,007,128 41,816
2EES 120,526 130,316 A9,790
= 21,105 26,000 A4,895
Il 2,700 2,700 0
= 1,071 1,071 0
= 95,650 100,545 AN4,895
JI=HsE s 47,210 57,000 A9,790
= 16,105 21,000 A4,895
= 31,105 36,000 AN4,895
EHAZOIERN X 20,210 30,000 A9,790
= 10,105 15,000 A4,895
= 10,105 15,000 N4,895
301 Let2a= 20,210 30,000 A9,790
= 10,105 15,000 AN4,895
= 10,105 15,000 A4,895
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= 10,105 15,000 A4,895
= 10,105 15,000 A4,895
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SA-EFH - HAAH) - N - BES &hoh I8N R
MEH I S2e ,343,990 ,343,990 0
= 8,500 8,500 0
= ,335,490 ,335,490 0
ME M D] 2tel ,343,990 ,343,990 0
< 8,500 8,500 0
= ,335,490 ,335,490 0
HIISSSXHelAME2S , 147,564 , 147,564 0
401 AIEHIZL 20 383,285 427,285 A44,000
01 Al£HI 381,845 425,845 A44,000
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56,000,000& 56,000 100,000 A44,000
402 2t +=01S 134,000 90,000 44,000
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Hess(sa3=2sn) 95,538 37,587 57,951
IR AKX = 78,131 20,180 57,951
=HIjd2te] 23H A= 78,131 20,180 57,951
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01 JIEtal AN ES 78,131 20,180 57,951
O3SHelANE N [+=EHLSESIA ]
57,951,000& 57,951 0 57,951




